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(FH) (FH) (FH) (FH) (FH) (FH) (FH)
IR 58,670 584,797 348,632 116,150 119,726 562
W
HHIE R 58,670 577,285 348,632 116,080 119,726 562
F Hegs 7,512 70
u:_/l
s BHTY | EAETY | ARFY | WETY
) A
(FH) (FH) (FH) (FH)
"
IR 22,598 1,500 28,560 35,820
.
HHIE R 22,598 1,500 28,560 35,820
P




7 SEHEEFENRE IS O

who 3 ﬂ/A‘E‘ EF EJ -3 Az
sy | BEECE sy we | omREy | Sl 1%
(A) (FM) (M) (M) (M) (M) ()
(32)
WE# 491 2,030,403| 1,216,179 3,246,582| 1,119,670| 4,366,252
(32)
AT 491 2,030,403| 1,216,109 3,246,512| 1,119,670| 4,366,182
O
b 70 70 70
o | BERE | | mawy | mesy |00 | R TRADE
ik (1) (1) (1) (1) (1) (1) (1)
= W 58,670 484,463|  348,632|  116,150| 119,726 562
- W 58,670 484,463|  348,632| 116,080 119,726 562
y Heig 70
sy | EBTE | HHEEY | EERFY | RETFY
» (T1) (T1) (T1) (T1)
. W 22,096 1,500 28,560 35,820
- W 22,096 1,500 28,560 35,820
[T
A DEHMEELHEE
. LT N L
pesy | MEECL wr | omATS | Sl fii%
N TR TR (TR (TR (TR (TR
(676 )
ines 726,101 6,026  100,836| 832,963|  116,924| 949,887
(625 )
AT 684,103 6,026 93,324| 783,453  110,751| 894,204
( 51)
b 41,998 7,512 49,510 6,173 55,683
T Vo3 5 o]
sy | BETN | | gokEy | mwEy |00 | T RRTE
T (T (T (T (T (T (T (T
= W 100,334
- R 92,822
y [ 7,512
K4y WEFY | EHETFY | FEFY REFY
» (1) (1) (1) (1)
N WHIET 502
- HHIE R 502
o3
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